
COPILOT 3-24
PARTS PRICELIST 2023
The parts you will find in this overview are the most common 
parts of the Copilot 3-24. They are divided into categories. Are 
you looking for accessories or alternative parts that you cannot 
find in this overview? Please refer to the regular price list.

1/2 huka makes your world easier   www.hukabikes.com

The prices listed are postage paid in the Netherlands and exclude 9% VAT. 
The prices are valid from 1, January 2023 and replace all previous parts price lists. 
Technical changes and misprints reserved. Do you want more information? Call us: +31 (0)541-572 472.

Art.nr. Frame parts Price €

401025 Inner ballhead tube, Copilot 3-24 45,50

411012G Frame Copilot 3-24, grey (RAL9023) 1018,00

411012W Frame Copilot 3-24, white (RAL9016) 1018,00

401040 Fusee left, Copilot 3 89,00

401041 Fusee right, Copilot 3 89,00

400001G Frame part front large, Copilot 3-24, grey (RAL9023) 280,00

400001W Frame part front large, Copilot 3-24, white (RAL9016) 280,00

400002G Frame part front small, Copilot 3-24, grey (RAL9023) 280,00

400002W Frame part front small, Copilot 3-24, white (RAL9016) 280,00

408033 Handle for quick release frame part front 72,00

426609 Coupling Set, Copilot 3 192,00

438138 Spring dowel, 8 x 30 mm 0,60

Art.nr. Chainguard parts Price €

411663 Chainguard Copilot 3-24, black 182,00

401672 Mounting bracket chainguard, 219 mm 24,50

480145 Mounting strip chainguard Copilot-3, L= 187 mm, black 17,00

480144 Mounting strip chainguard Copilot-3, L= 70 mm, black 16,00

480146 Mounting strip chainguard Copilot-3, L= 95 mm, black 16,50

410082 Connection strip chainguard, Copilot 3 6,50

Art.nr. Mounting parts Price €

411988 Bush 5,2 x1 0 x 7.5 mm, black 0,70

497024 Sticker for antislip 9,95

408035 Luggage carrier Pletscher Genius, black 101,00

406056 Cover for coupling Copilot 3, black 34,00

401498 Protection rubber for frame part front, Copilot 3 9,10

408028 Mounting set luggage carrier Pletscher, 133 mm 15,50

435075 Bicycle pump Rookie minipump SKS 22,50

426761 Cable holder double, black 1,50

401494 Cable holder single, black 2,45

401645L Bicycle pedals set 19,50

401615 Mudguard rear 24", matt black 28,00

401616 Mudguard front 20", matt black, Copilot 3 23,00

401055 Mudguard holder left front, Copilot 3 21,50

401056 Mudguard holder right front, Copilot 3 21,50

401065 Mudguard mounting rod front, Copilot 3 12,50

490049 Cable lock with holder, black 21,50

496117 Sticker www.huka.nl, yellow 4,15

426582 Safety lock AXA Solid 38,50



COPILOT 3-24 PARTS PRICELIST 2023

huka makes your world easier   www.hukabikes.com2/2

The prices listed are postage paid in the Netherlands and exclude 9% VAT. 
The prices are valid from 1, January 2023 and replace all previous parts price lists. 
Technical changes and misprints reserved. Do you want more information? Call us: +31 (0)541-572 472.

Art.nr. Drive parts Price €

496024 Cover for Shimano Nexus hub, left side 9,95

496038 Outher cable SP5, L= 2190 mm, for gear 8,80

401667 Crank set 150 mm 38T, black 38,00

409075 Crank set, double sprocket 38+38 ALU, silver 110,00

401645L Bicycle pedals, standard 19,50

408058 Bicycle chain 1/2 x 3/32, galvanized, p/mtr (front 2,1 m / rear 1,3 m) 12,00

409805 Shifter unit for Shimano Nexus 8 18,00

480844 Chain lock 1/2 x 1/8, Simplex 2,50

408059 Chain lock 1/2 x 3/32, Galvanized 3,10

411653 Bottom bracket 119 mm JIS 26,50

431208 8-Gear hub Shimano nexus 8, coasterbrake 267,00

431209 8-Gear hub Shimano nexus 8, freewheel 252,00

Art.nr. Brake parts Price €

427299 Inner cable brake, L= 350 cm 5,25

496036 Outher cable brake, L= 230 cm 5,25

401544 Hydraulic drumbrake set for frontwheels, Copilot 3-24 189,00

408413 Brake pads Shimano V-brake 16,50

406254 Brake lever, left, Saccon 21,00

401528 V-brake Shimano S65T, black 50,50

Art.nr. Handlebar and stem Price €

426811 Headset bearing 1", black 20,00

426827L Bicycle bell, type Decibel 11,50

401604L Bicycle bell, Widek steel, blac 5,85

431223 Gripshift Shimano Nexus 8-gear 53,00

433012 Handlebar grip left, black 6,50

433013 Handlebar grip right, black 6,50

412869 Handlebar grip, rubber (front) 3,85

401682 Rod end bearing male m6 11,00

490004L Handlebar small, black 20,00

401417L Handlebar V-model, black 35,00

406142L Stem ergonomic Ø22,2, with quick release 113,00

426806L Stem Ø22,2, L= 300 mm 30,50

401085 Steering rod Copilot 3-24, black 24,00

Art.nr. Saddle and seat post Price €

401602 Seat post clamp, black 8,45

451409 Socket Ø27,2 - Ø30 mm, aluminium for seat post 6,15

402860L Saddle gel, Selle Royal, Freedom 102,00

427175L Saddle children model, Selle Royal 26,50

401637L Saddle Velo Plush 51,50

432059L Seat post shock absorbing, Ø27.2 x 350 mm 56,00

409041L Seat post Ø27.2 x 250 mm, aluminium 19,00

409033L Seat post Ø27.2 x 350 mm, aluminium 11,50

411058 Saddle mounting set 10,50



COPILOT 3-24 PARTS PRICELIST 2023

huka makes your world easier   www.hukabikes.com2/2

The prices listed are postage paid in the Netherlands and exclude 9% VAT. 
The prices are valid from 1, January 2023 and replace all previous parts price lists. 
Technical changes and misprints reserved. Do you want more information? Call us: +31 (0)541-572 472.

Art.nr. Back support Price €

409045 Mounting tube for back support shell 20,50

490070 Mounting block, 24 mm, black 9,95

490071 Mounting plate, 24 mm, black 6,30

402853 Foam cushion for back support 6,75

402854 Hip belt, Lg= 80 cm incl. mounting plate 32,00

402852 Shell for back support 35,50

490159 Slide piece for hip belt 2,90

409001 Clasp set for hip belt 10,00

419012 Seat post with adaption for back support, Ø27.2 mm 62,50

409018 Mounting tube for backsupport on seat post 69,00

409044 Mounting tube for back support on alu block adapter 65,50

409020 Alu-block adapter for mounting back support on frame 60,50

Art.nr. Lighting Price €

435132 Rear light with batteries 33,00

432976 Head light led with batteries, Contec HI-186 33,00

401624 Mounting bracket for head light 4,25

408060 Reflector red, round, 55 mm 11,00

Art.nr. Wheels Price €

411321 Rear wheel 24" Nexus 8V coasterbrake Marathon Plus (47-507) 390,00

411320 Rear wheel 24" Nexus 8V freewheel Marathon Plus (47-507) 375,00

401346 Tube 20" Schwalbe DV (47-406) 8,65

401350 Tube 24" Schwalbe DV (40/55-507) 8,65

401339 Tire 20 x 1.75 Marathon Plus (47-406) 52,50

401340 Tire 24 x 1.75 Marathon Plus (47-507) 58,50

435067 Nipple for spoke 13G 0,10

411217 Cover cap front wheel, Copilot 3 11,00

401777 Spoke 13 x 155 rvs (front wheel) 0,85

401767 Spoke 13 x 220 rvs (rear wheel) 0,90

406227 Rim 20" (406) X-plorer, black 35,00

426506 Rim 24" (507) X-plorer, black 36,50

426530 Rim tape Schwalbe, 15 mm, textile, p/rol 28,50

411218 Front wheel 20" left, drumbrake Marathon Plus (47-406) 206,00

411219 Front wheel 20" right, drumbrake Marathon Plus (47-406) 206,00



COPILOT 3-24 PARTS PRICELIST 2023

huka makes your world easier   www.hukabikes.com2/2

The prices listed are postage paid in the Netherlands and exclude 9% VAT. 
The prices are valid from 1, January 2023 and replace all previous parts price lists. 
Technical changes and misprints reserved. Do you want more information? Call us: +31 (0)541-572 472.

Art.nr. Electro parts Bafang Price €

401932L Battery Bafang 43V 750Wh 1008,00

401927L Bafang monochrome display 99,50

401963L Bafang LCD coloured display 163,00

409867 Rear wheel 24” Bafang 695,00

401929 Rrake lever set Bafang, left and right 27,00

401922 Bottom bracket torque sensor, Bafang 240,00

401934 Battery slider Bafang incl. lock 63,50

401935 Bafang Rear carrier Bafang for battery 69,00

401936 Carriage holder for control box, Bafang 59,50

401937 Crank set L+R Bafang 170 mm, black 27,00

Art.nr. Electro parts Bafang - continued Price €

401938 Battery charger Bafang 43V 2A 101,00

401945 Control box Bafang 43V 250W (CAN-Bus) 151,00

401968 Display cable Bafang 2200 mm 38,00

401969 Extension cable 500 mm Bafang sensor 9,20

401924 Chain wheel 38T 3/32 double Bafang 78,50

401967 Hub motor Bafang 42V 250W rear wheel 570,00

435067 Nipple spoke 13G 0,10

401783 Spoke 13 x 163 stainless steel 0,85

409808 Cassette 7-speed Shimano 50,00

402838 Derailleur Shimano Deore RD-M591-L 99,50

Art.nr. Electro parts Heinzmann Price €

409866 Rear wheel 24" Direct Power Marathon Plus (47-507) 900,00

409831 Motor for rear wheel 250W Direct Power, black 838,00

409853 Akkupack Heinzmann 36V - 14Ah Li-Ion 1021,00

409827 Luggage carrier for Direct Power system 122,00

409893 Mounting plate for luggage carrier on 24", Direct Power 8,75

409808 Cassette 7 speed Shimano 50,00

409833T Controllerbox Direct Power rear wheel, Thun 553,00

402838 Derailleur Shimano Deore RD-M591-L 99,50

409836 Display Direct Power, black 215,00

409842 Mounting set for luggage carrier Direct Power, black 15,50

408402 Gripshift 7-Gear derailleur, Shimano 53,00

409835 Charger Direct Power 42V - 2A 135,00

432085 Pad-adapter for rear fork 849 1,15

481292 Precision washer 35 x 45 x 2,5 mm 2,30

401753 Spoke 13 x 135 rvs 0,90

460070 Safety rubber for clamp on handlebar 1,80

409814 Bottom bracket torque sensor Thun direct power, 123 mm 302,00

412984 Cable winder 12 mm, black, per meter 8,75



COPILOT 3-24 PARTS PRICELIST 2023

huka makes your world easier   www.hukabikes.com2/2

The prices listed are postage paid in the Netherlands and exclude 9% VAT. 
The prices are valid from 1, January 2023 and replace all previous parts price lists. 
Technical changes and misprints reserved. Do you want more information? Call us: +31 (0)541-572 472.

Art.nr. Idle motion shiftable Price €

401669 Cover for crank bolt 1,20

424649 Afloodnippel remkabel, 2 mm 0,20

409106 Aluminum disc with bearing for idle motion 59,50

410125 Head screw M6 x 30 mm vz 1,45

451629 Head screw M4 x 6 mm RVS 0,30

409108 Crank left 150 mm for idle motion, black 17,00

409110 Crank right 150 mm for idle motion, black 75,50

411658 Crank bolt 2,50

409103 Spring 1.25x13.75x41.5 4,30

427197 Cable set for idle motion 11,00

409107 Sprocket 38T for idle motion 46,00

409115 Grip bolt for right crank for idle motion 13,50

Art.nr. Idle motion shiftable - continued Price €

409102 Messing slider edge for idle motion 19,50

409101 Slider pawl for idle motion 24,00

410123 Screw M4 x 6 mm 0,10

409104 Brake lever for idle motion 45,50

409100 Mounting bracket for idle motion 102,00

432478 Spring stift 2 x 16 mm GV 0,30

408015 Bottom bracket 132 mm JIS 30,00

410126 Bolt M5 x 12 galv 0,10

415443 Adjust bolt M6 x 24 mm for brake cable 1,50


